Garland Independent School

GISD Sourcing Bid Tab

Bid#:	32084	Title: 255-19 Volleyball Uniforms and
		Equipment

Quote#	Vendor / Supplier	EPCNT	Discount
563721	AMERICA TEAM SPORTS	Yes	10-40%
562719	*BARCELONA SPORTING GOODS	Yes	Can range from 0 to 10%
563724	FLAT RATE PRINTING AND PROMOTIONS INCORPORATED	Yes	
560687	ITS GREEK TO ME	Yes	10% off on apparel and spirit wear. 159 off on uniforms and warmups.
561702	KNOCKOUT SPORTSWEAR.COM LLC	Yes	We offer a 10% discount for our KO brand sublimated items.
562710	PYRAMID SCHOOL PRODUCTS	Yes	**20% DISCOUNT FROM THE CHAMPION SPORTS CATALOG WITI \$50.00 MINIMUM ORDER.
562704	SCHOOL SPECIALTY INC	No	0
562703	SPORTS IMPORTS	Yes	0% discount. Minimum of \$9.00 shipping on all orders.
563722	TEAM LEADER	Yes	5%
562708	VARSITY BRANDS HOLDINGS CO INC	Yes	10% off BSN Equipment catalog w/exceptions.

*Confidential

	*Confidential									
		Award						Extended		
Line #	Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price		
	Baden Perfection Volleyball #VX5EC-210, leather -									
	red/white/blue - no subs, district									
1	game ball			EA	ITS GREEK TO ME	48	NB	NB		
	game ban			E/ (AMERICA TEAM	-10	IND	NB		
		YES		EA	SPORTS	48	\$38.85	\$1,865.00		
					PYRAMID SCHOOL					
				EA	PRODUCTS	48	\$39.00	\$1,872.00		
					VARSITY BRANDS					
				EA	HOLDINGS CO INC	48	\$45.98	\$2,207.00		
				EA	*BARCELONA SPORTING GOODS	48				
	Baden Lexum Dig Volleyball			EA	SPORTING GOODS	46				
	#VX450PNK, pink or approved									
2	equal			EA	ITS GREEK TO ME	6	NB	NB		
		YES			AMERICA TEAM					
		YES		EA	SPORTS	6	\$24.00	\$144.00		
					PYRAMID SCHOOL					
				EA	PRODUCTS	6	\$24.75	\$149.00		
					*BARCELONA					
				EA	SPORTING GOODS	6				
	Baden Lexum Microfiber Volleyball									
	#VX450C - red/navy/white or									
3	approved equal			EA	ITS GREEK TO ME	30	NB	NB		
		YES			AMERICA TEAM					
				EA	SPORTS SCHOOL SPECIALTY	30	\$24.00	\$720.00		
				EA	INC	30	\$24.22	\$727.00		
				EA	PYRAMID SCHOOL	30	\$24.22	\$121.00		
				EA	PRODUCTS	30	\$24.75	\$743.00		
					*BARCELONA		7= 0	40.00		
				EA	SPORTING GOODS	30				
	Baden Lexum Microfiber Volleyball									
	#VX450C 206 - maroon/white or									
4	approved equal			EA	ITS GREEK TO ME	10	NB	NB		
		YES		EA	AMERICA TEAM SPORTS	10	\$24.00	\$240.00		
<u> </u>				LA	PYRAMID SCHOOL	10	\$24.00	ΨZ40.00		
				EA	PRODUCTS	10	\$24.75	\$248.00		
					*BARCELONA	1		+		
				EA	SPORTING GOODS	10				
	Baden Perfection Ball Hammock									
_	#BADENHAM, color to follow when				ITC CDEEK TO ME		ND	ND		
5	order is placed or approved equal			EA	ITS GREEK TO ME VARSITY BRANDS	4	NB	NB		
		YES		EA	HOLDINGS CO INC	4	\$96.98	\$388.00		
				LA	PYRAMID SCHOOL		\$30.30	Ψ300.00		
				EA	PRODUCTS	4	\$152.00	\$608.00		
					AMERICA TEAM					
				EA	SPORTS	4	\$189.00	\$756.00		
					*BARCELONA					
<u> </u>				EA	SPORTING GOODS	4	1			

Motien Volleyal #Wisil-LU white)	Lino#	Item Description	Award (Y/N)	Reason	иом	Supplier	Otv	Price	Extended Price
YES		Molten Volleyball #IV58L-U, white,	(T/N)	RedSUII		• • • • • • • • • • • • • • • • • • • •	Qty		
EA HOLDINGS COINC 144 \$43.41 \$6.2	6	no subs - district game ball	VES			AMERICA TEAM			NB
Tachikara Ball Carl #8C-HAM.			ILO		EA		144	\$42.98	\$6,189.00
EA					EA		144	\$43.41	\$6,251.00
EA					EA		144		
Section Sect	7				EA		3	NB	NB
## AMERICA TEAM SAMERICA TEAM S. SPAT75 S28			YES		EA		3	\$79.12	\$237.00
EA									
BA NOLINGS CO INC 3 \$96.98 \$29						PYRAMID SCHOOL			\$284.00
## Tachikara Volloyball #SV5WSC ## Tachikara Send-Tec Ball, white ## SPORTS ## SPORTS ## Tachikara Send-Tec Ball, white ## SPORTS ## SPO					EA		3	\$95.00	\$285.00
EA SPORTING GOODS 3					EA		3	\$96.98	\$291.00
## Stacknoyal/white					EA		3		
PYRAMID SCHOOL PRODUCTS 15 \$22.45 \$33	Ω				ΕΛ	ITS CREEK TO ME	15	NR	NB
EA SCHOOL SPECIALTY 15 \$24.22 \$36 \$38 \$39 \$42 \$36 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$40 \$4	0	biack/royal/writte	YES			PYRAMID SCHOOL			
EA					EA		15	\$22.45	\$337.00
EA SPORTS 15 \$26.35 \$39					EA		15	\$24.22	\$363.00
EA HOLDINGS CO INC 15 \$27.26 \$40					EA	SPORTS	15	\$26.35	\$395.00
EA SPORTING GOODS 15 NB NB NB NB NB NB NB N					EA	HOLDINGS CO INC	15	\$27.26	\$409.00
### Tachikara Sensi-Tec Ball, white ### ### ### ### ### ### ### ### ### #					EA		15		
YES	0							NR	NB
EA PRODUCTS 15 \$22,25 \$33	9	#3v3vv3Cvv or approved equal	YES			PYRAMID SCHOOL			
EA SPORTS 15 \$26.35 \$39 WARSITY BRANDS 15 \$27.98 \$42 WARSITY BRANDS 15 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40					EA		15	\$22.45	\$337.00
EA SPORTS 15 \$26.35 \$39					EA		15	\$24.22	\$363.00
EA HOLDINGS CO INC					EA	SPORTS	15	\$26.35	\$395.00
EA SPORTING GOODS 15					EA	HOLDINGS CO INC	15	\$27.98	\$420.00
Tachikara Volleyblal #SV5WMTAC. 10 red/royal or approved equal YES EA ITS GREEK TO ME PYRAMID SCHOOL PRODUCTS 6 \$26.00 \$15 AMERICA TEAM EA SPORTS 6 \$29.35 \$17 11 Mizuno LR6 Knee Pads, black YES PR ITS GREEK TO ME 195 NB N VARSITY BRANDS PR HOLDINGS CO INC PYRAMID SCHOOL PRODUCTS 195 \$15.29 \$2,9 PR PR PRODUCTS 195 \$15.30 \$2,9 PR					EA		15		
Ted/royal or approved equal EA									
YES EA PRODUCTS 6 \$26.00 \$15 AMERICA TEAM 6 \$29.35 \$17 11 Mizuno LR6 Knee Pads, black YES PR ITS GREEK TO ME 195 NB	10				EA	ITS GREEK TO ME	6	NB	NB
AMERICA TEAM SPORTS 6 \$29.35 \$17		,	YES			PYRAMID SCHOOL			\$156.00
Mizuno LR6 Knee Pads, black PR						AMERICA TEAM			
YES	11	Mizuno LR6 Knee Pads, black							\$176.00 NB
PR PYRAMID SCHOOL PRODUCTS 195 \$15.30 \$2,9 PR TEAM LEADER 195 \$15.99 \$3,1 AMERICA TEAM PR SPORTS 195 \$16.65 \$3,2 PR SPORTING GOODS 195 PRAMID SCHOOL PR PRODUCTS 15 \$13.00 \$19 PR SPORTS 15 \$13.00 \$19 PR SPORTS 15 \$15.39 \$23 PR SPORTING GOODS 15 PR SP			YES			VARSITY BRANDS			\$2,982.00
PR TEAM LEADER 195 \$15.99 \$3,1 AMERICA TEAM SPORTS 195 \$16.65 \$3,2 **BARCELONA PR SPORTING GOODS 195 Mizuno VS-1 Kneepads, black, no subs - fill-ins YES PR ITS GREEK TO ME 15 NB N PYRAMID SCHOOL PRODUCTS 15 \$13.00 \$19 AMERICA TEAM SPORTS 15 \$15.39 \$23 **BARCELONA SPORTING GOODS 15 Mizuno Low Ridder Spandex						PYRAMID SCHOOL			
PR SPORTS 195 \$16.65 \$3,2-1						TEAM LEADER			\$2,984.00 \$3,118.00
Mizuno VS-1 Kneepads, black, no subs - fill-ins					PR		195	\$16.65	\$3,247.00
Mizuno VS-1 Kneepads, black, no subs - fill-ins PR						*BARCELONA		,	,
12 subs - fill-ins PR ITS GREEK TO ME PYRAMID SCHOOL PRODUCTS 15 NB NB PR PRODUCTS 15 \$13.00 \$19 AMERICA TEAM PR SPORTS 15 \$15.39 \$23 BARCELONA PR SPORTING GOODS 15 \$15.39 \$23 Mizuno Low Ridder Spandex Mizuno Low Ridder Spandex 15 \$15.39 \$23		Mizuno VS-1 Kneepads, black, no			FIX	SI SICILING GOODS	190		
PR PRODUCTS 15 \$13.00 \$19 AMERICA TEAM PR SPORTS 15 \$15.39 \$23 BARCELONA PR SPORTING GOODS 15 Mizuno Low Ridder Spandex	12				PR		15	NB	NB
PR SPORTS 15 \$15.39 \$23 **BARCELONA PR SPORTING GOODS 15 Mizuno Low Ridder Spandex			YES		PR	PRODUCTS	15	\$13.00	\$195.00
*BARCELONA PR SPORTING GOODS 15 Mizuno Low Ridder Spandex					PR		15	\$15.39	\$231.00
Mizuno Low Ridder Spandex						*BARCELONA		,	, ,,,,,,,,
51(0)(\$2;444400)(5)(6)(0)(0)(0)(0)					rn	OF OICHING GOODS	10		
when order is placed, no subs - fill-									
13 ins PR ITS GREEK TO ME 25 NB N	13				PR		25	NB	NB
PR PRODUCTS 25 \$14.50 \$36			YES		PR	PRODUCTS	25	\$14.50	\$363.00
					PR	SPORTS	25	\$16.60	\$415.00
*BARCELONA PR SPORTING GOODS 25					PR		25		
VARSITY BRANDS						VARSITY BRANDS		\$10.05	\$499.00

	Itam Danavint'	Award	Decemany.		Cumplier	0/::	Dulas	Extended
Line #	Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
	Augusta Ladies Pulse Team Shorts #1265, color to follow when order is							
14	placed, no subs - fill-ins			PR	ITS GREEK TO ME AMERICA TEAM	18	NB	NB
		YES		PR	SPORTS	18	\$11.20	\$202.00
				PR	*BARCELONA SPORTING GOODS	18		
					VARSITY BRANDS		A40.50	\$0.40.00
				PR	HOLDINGS CO INC KNOCKOUT	18	\$13.50	\$243.00
				PR	SPORTSWEAR.COM LLC	18	\$16.80	\$302.00
				PR	TEAM LEADER	18	\$16.99	\$306.00
	Augusta Ladies Pulse Team Short Black/White with white "NG"							
15	"Volleyball" on bottom left leg #1265, no subs - fill-ins			PR	ITS GREEK TO ME	50	NB	NB
13	#1200, 110 3ub3 - 1111-1113	YES			AMERICA TEAM			
		. 20		PR	SPORTS VARSITY BRANDS	50	\$13.25	\$663.00
				PR	HOLDINGS CO INC	50	\$13.50	\$675.00
				PR	*BARCELONA SPORTING GOODS	50	<u> </u>	
					KNOCKOUT SPORTSWEAR.COM			
				PR	LLC	50	\$18.90	\$945.00
	Badger B-Core Tee #4120 Electric			PR	TEAM LEADER	50	\$18.99	\$950.00
	Blue with 3" yellow lettering							
	outlined in white across center "LADY" "PATRIOTS", sizes to	YES						
16	follow when order is placed or approved equal			EA	ITS GREEK TO ME	50	\$6.30	\$315.00
-10	approved equal				*BARCELONA		φ0.30	ψ313.00
				EA	SPORTING GOODS AMERICA TEAM	50		
				EA	SPORTS	50	\$9.40	\$470.00
					KNOCKOUT SPORTSWEAR.COM			
				EA	LLC VARSITY BRANDS	50	\$10.40	\$520.00
	Dodgog D. Com Tray II Maggar			EA	HOLDINGS CO INC	50	\$10.65	\$533.00
	Badger B-Core Tee #412000, short sleeve gold with black block							
	lettering outlined in white "LADY OWLS" "VOLLEYBALL", sizes to	YES						
	follow when order is placed or				ITO ODEEN TO VE			0
17	approved equal			EA	AMERICA TEAM	20	\$9.45	\$189.00
				EA	SPORTS *BARCELONA	20	\$10.00	\$200.00
				EA	SPORTING GOODS	20		
					KNOCKOUT SPORTSWEAR.COM	1		
				EA	LLC VARSITY BRANDS	20	\$11.25	\$225.00
				EA	HOLDINGS CO INC	20	\$12.72	\$254.00
	Badger Men's Core Long Sleeve							
	Tee #4104, safety yellow with hot pink lettering across center	YES						
	"PATRIOT" - bigger letters	IES						
18	"Volleyball", sizes to follow when order is placed or approved equal			EA	ITS GREEK TO ME	50	\$11.25	\$563.00
				EA	*BARCELONA SPORTING GOODS	50		
					AMERICA TEAM			
				EA	SPORTS VARSITY BRANDS	50	\$11.50	\$575.00
				EA	HOLDINGS CO INC	50	\$12.80	\$640.00
					KNOCKOUT SPORTSWEAR.COM			
	Badger Ladies Core Tee #4160,			EA	LLC	50	\$13.40	\$670.00
	black with white block lettering							
	"NG" "Volleyball", sizes to follow when order is placed or approved	YES			*BARCELONA			
19	equal			EA	SPORTING GOODS AMERICA TEAM	50		
				EA	SPORTS	50	\$8.90	\$445.00
				EA	ITS GREEK TO ME KNOCKOUT	50	\$9.45	\$473.00
				F.	SPORTSWEAR.COM		#C 70	D407.00
L				EA	LLC	50	\$9.70	\$485.00

		Award				_		Extended
Line #	Item Description	(Y/N)	Reason	UOM	Supplier VARSITY BRANDS	Qty	Price	Price
				EA	HOLDINGS CO INC	50	\$9.86	\$493.00
	Radger Ladies Care Tee #4160			<u>'</u>				
	Badger Ladies Core Tee #4160, gray with black block lettering							
	"Lady Raiders" "Volleyball" sizes to	YES						
	follow when order is placed or				AMERICA TEAM			
20	approved equal			EA	SPORTS	50	\$8.49	\$425.00
				EA	*BARCELONA SPORTING GOODS	50		
				EA	ITS GREEK TO ME	50	\$9.45	\$473.00
					KNOCKOUT		•	
				l	SPORTSWEAR.COM		00.00	# 400 00
				EA	LLC VARSITY BRANDS	50	\$9.80	\$490.00
				EA	HOLDINGS CO INC	50	\$9.86	\$493.00
	Badger Tonal Sport Heather Tee							
	#4343, gray/black with red	VEO						
	embroidery "NG" "Volleyball" right chest, sizes to follow when order is	YES			AMERICA TEAM			
	placed or approved equal			EA	SPORTS	6	\$16.00	\$96.00
					VARSITY BRANDS			
				EA	HOLDINGS CO INC	6	\$18.25	\$110.00
				EA	*BARCELONA SPORTING GOODS	6		
				EA	ITS GREEK TO ME	6	\$19.80	\$119.00
					KNOCKOUT	Ť	\$.0.00	\$1.10.00
					SPORTSWEAR.COM			
				EA	LLC	6	\$20.00	\$120.00
	Badger Pro Compression Short #BSH4629, black - sizes to follow							
	when order is placed or approved	YES			AMERICA TEAM			
	equal			PR	SPORTS	60	\$8.65	\$519.00
					*BARCELONA			
				PR	SPORTING GOODS	60	1	1
					KNOCKOUT SPORTSWEAR.COM			
				PR	LLC	60	\$10.85	\$651.00
					VARSITY BRANDS	1		
				PR	HOLDINGS CO INC	60	\$11.25	\$675.00
	Canab Valla ball Nat #I IMFO na			PR	ITS GREEK TO ME	60	\$18.00	\$1,080.00
	Senoh Volleyball Net #HM50, no subs			EA	ITS GREEK TO ME	2	NB	NB
		YES		EA	SPORTS IMPORTS	2	\$408.75	\$818.00
					VARSITY BRANDS			
				EA	HOLDINGS CO INC	2	\$496.98	\$994.00
				EA	*BARCELONA SPORTING GOODS	2		
	Senoh Volleyball Antennae #NA2,				0. 0.1110 00020			
	no subs			PR	ITS GREEK TO ME	2	NB	NB
		YES		PR	SPORTS IMPORTS	2	\$136.25	\$273.00
				PR	*BARCELONA SPORTING GOODS	2		
	Senoh Volleyball System #SI-1,			PK	OF OILTING GOODS	-	 	1
	revolutional carbon upright HDNR-							
	B, blk. heavy duty net ratchet &							
	crank handle for SI-1, floor plates, floor sleeves, HM50 competition							
	technora volleyball net complete							
	with side ties, velcro side straps,							
25	dowel rods, net lock			ST	ITS GREEK TO ME	3	NB	NB
			WB	ST	*BARCELONA SPORTING GOODS	3		
		YES	VV D	ST	SPORTING GOODS SPORTS IMPORTS	3	\$7,536.80	\$22,610.00
					J-3/11-3/111-3/11-3		φ. ,σσσ.σσ	,010.00
	Senoh Heavy Duty Net Ratchet							
	with crank handle, red #HDNR-R (DE10-DE11-S) no subs Senoh							
	standards			EA	ITS GREEK TO ME	2	NB	NB
		YES		EA	SPORTS IMPORTS	2	\$365.15	\$730.00
Ţ			1		*BARCELONA			
				EA	SPORTING GOODS	2	1	1
	Nike Streak Knee Pads #1399096,							
	color & sizes to follow when order							
27	is placed			PR	ITS GREEK TO ME	105	NB	NB
		YES		PR	VARSITY BRANDS HOLDINGS CO INC	105	\$15.91	\$1,671.00
				FIX	*BARCELONA	105	ψ13.31	Ψ1,071.00
				PR				

l ino #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
Line #	Nike Women's Digital Vapor Elite	(T/N)	Reason	UOW	Supplier	Qty	Price	Frice
	Long sleeve jersey #846313 colors:							
	Graphic Style: Tonal Body: Pinkfire Swoosh NCAA Blk. upper sleeve	4NS						
	stripe & collar - black lower sleeve stript - white left & right collar stripe							
	- black, 4" number front Bureau II							
28	fill c	VEC		EA	ITS GREEK TO ME VARSITY BRANDS	2	\$57.50	\$115.00
		YES		EA	HOLDINGS CO INC	2	\$82.00	\$164.00
	Nike Women's Performance Game Shorts #108720, color & sizes to							
	follow when order is placed - no			-	ITO ODEEK TO ME	40		
29	subs - fill-ins	YES		PR	ITS GREEK TO ME *BARCELONA	40	NB	NB
		ILO		PR	SPORTING GOODS VARSITY BRANDS	40		
				PR	HOLDINGS CO INC	40	\$17.95	\$718.00
	Nike Women's Attach TR5 Short							
	#NK923246, black - sizes to follow when order is placed - no subs - fill-							
30	ins			PR	ITS GREEK TO ME *BARCELONA	45	NB	NB
		YES		PR	SPORTING GOODS VARSITY BRANDS	45		
				PR	HOLDINGS CO INC	45	\$14.90	\$671.00
	Nike Half Cushioned Crew Socks #NKSX4827 (3 pair package) -	VEO						
31	color & sizes to follow when order is placed or approved equal	YES		PK	VARSITY BRANDS HOLDINGS CO INC	5	\$10.50	\$53.00
31	is placed of approved equal			PK	ITS GREEK TO ME	5	\$11.70	\$59.00
	Nike Elite Crew Socks (3 pair							
	package) color & size to follow when order is placed or approved	4NS						
32	equal			PK	ITS GREEK TO ME VARSITY BRANDS	12	\$11.70	\$140.00
		YES		PK	HOLDINGS CO INC	12	\$54.00	\$648.00
	Nike Elite 1.5 Graphic Crew Socks (3 pair package), color & sizes to							
	follow when order is placed or	4NS			ITO ODEEK TO ME			
33	approved equal	YES		PK	ITS GREEK TO ME VARSITY BRANDS	12	\$11.70	\$140.00
	Nike Dri-fit Half Cushion Crew	150		PK	HOLDINGS CO INC	12	\$32.25	\$387.00
	Socks (3 pair pack), color to follow when order is placed or approved	4NS						
34	equal			PK	ITS GREEK TO ME	12	\$11.70	\$140.00
		YES		PK	VARSITY BRANDS HOLDINGS CO INC	12	\$12.25	\$147.00
	Nike Pegasus Turbo Women's Shoe #AJ4115-001, black/oil							
	gray/gunsmoke/vast gray, sizes to							
35	follow when order is placed or approved equal			PR	ITS GREEK TO ME	2	NB	NB
		YES	·	PR	VARSITY BRANDS HOLDINGS CO INC	2	\$71.75	\$144.00
	Nike Men's Pegasus Turbo Shoe			FIX	HOLDINGS CO INC	2	φ/ 1./5	φ1 44 .00
	#AJ4112-001, black/oil gray/gunsmoke/ vast gray, sizes to							
36	follow when order is placed or approved equal			PR	ITS GREEK TO ME	2	NB	NB
50		YES			VARSITY BRANDS			
				PR	HOLDINGS CO INC	2	\$71.75	\$144.00
	Nike Odyssey React Women's Shoe #AO9820-602, pink time/flash							
37	crimson/black - size to follow when order is placed			PR	ITS GREEK TO ME	1	NB	NB
J1		YES			VARSITY BRANDS			
	Nike Air Zoom Pegasus 35			PR	HOLDINGS CO INC	1	\$81.75	\$82.00
	Women's Shoe #942837-602, bright crimson/gym red/football							
20	grey/gridiron - size t ofollow when order is placed or approved equal			DD	ITS GREEK TO ME	4	ND	ND
38	order is placed or approved equal	YES		PR	ITS GREEK TO ME VARSITY BRANDS	1	NB	NB
				PR	HOLDINGS CO INC	1	\$71.75	\$72.00

No. Free TX V8 News Since No.		Award						Extended
### ANSIGN 401, garne myslavhelbegram metal metal myslavhelbegram metal myslavhelbegra	Line # Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
PRE	#AH9395-401, game royal/white/gum medium							
Niles Womens Garre Day Pilos Niles States with visite Block embodilety Name Notices and States Name Notices and States Name Notices and Name Notices and Name Name Name Name Name Name Name Name				PR		1	NB	NB
### WESSURS, Back with white block entrolongly Price Visignation 1. September 1. Se		YES		PR		1	\$71.75	\$72.00
## A TIS GREEK TO ME	#NK658063, black with white block embroidery "NG" "Volleyball" -	YES						
EA			i	EA		3	\$24.30	\$73.00
Nike Women's Game Day Pola				EA		3	\$29.75	\$89.00
Nike Women's Came Day Polo Polo with two cooks of a princed or approved equal				EΔ		3		
RANGE Sample Sa	#NK658063, red with white block embroidery outlined in black "NG"	YES		LA	or ordina doope	3		
EA	order is placed or approved equal			EA		3	\$24.30	\$73.00
EA SPORTING GOODS 3 SPORTING GOODS SPORTING G				EA	HOLDINGS CO INC	3	\$29.75	\$89.00
Nike Men's Came Day Pole P				EA		3		
##K656085, red with white block eletting quilled in black *Not* Vessel	Nike Men's Game Day Polo					سَ		
Nike Men's Game Day Polo Separation Se	#NK658085, red with white block lettering outlined in black "NG" "Volleyball" - sizes to follow when	YES						
RA	42 order is placed or approved equal			EA		3	\$24.30	\$73.00
Nike Men's Game Day Polo #RN653083, black with white block embroider, YCs "Volleyball" - sizes to follow when order is placed or approved equal				EA	HOLDINGS CO INC	3	\$29.75	\$89.00
### ### ### ### ### ### ### ### ### ##				EA		3		
## A	#NK658085, black with white block embroidery "NG" "Volleyball" -	YES						
EA HOLDINGS CO INC 3 \$29.75 \$89.00				EA		3	\$24.30	\$73.00
Section Sect				EA	HOLDINGS CO INC	3	\$29.75	\$89.00
Nike Women's Dry SS Blade Polo 923262, color to follow when order is placed with three color SG with crossed swords - sizes to follow when order is placed or approved EA				EA		3		
Nike Women's Team Polo with two color Greenbay "G" embroidered on & sizes to follow when order is placed or approved equal Nike Men's Dri Fit 1/2 Zip Running Shirt #90496-010, black with white block embroidered of approved equal Nike Men's Dri Fit 1/2 Zip Running Shirt #90496-010, black with white block embroidered "NG" "Volleyball" on right chest - sizes to follow when order is placed or approved equal Nike Team Windrunner Jacket, black/grey/white - sizes to follow when order is placed or approved equal Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs	#923262, color to follow when order is placed with three color SG with crossed swords - sizes to follow when order is placed or approved							
Nike Women's Team Polo with two color Greenbay "G" embroidered on & sizes to follow when order is placed or approced equal EA ITS GREEK TO ME 6 \$22.50 \$135.00 WARSITY BRANDS HOLDINGS CO INC 6 \$29.75 \$179.00 Nike Men's Dri Fit 1/2 Zip Running Shirt #90496-010, black with white block embroidered "NG" "Volleyball" on right chest - sizes to follow when order is placed or approved equal Nike Team Windrunner Jacket, black/grey/white - sizes to follow when order is placed or approved equal Nike Team Windrunner Jacket, black/grey/white - sizes to follow when order is placed or approved equal Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs of low when order is placed no subs of low when order is placed or approved equal Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs of low when orde	44 equal			EA		3	\$22.50	\$68.00
Nike Women's Team Polo with two color Greenbay "G" embroidered on & sizes to follow when order is placed or approced equal Second Polo Polo Polo Polo Polo Polo Polo Pol				EA		3	\$44.75	\$134.00
color Greenbay "G" embroidered on & sizes to follow when order is placed or approved equal EA ITS GREEK TO ME 6 \$22.50 \$135.00 VARSITY BRANDS HOLDINGS CO INC 6 \$29.75 \$179.00 Nike Men's Dri Fit 1/2 Zip Running Shirt #90496-010, black with white block embroidered "NG" "Volleyball" on right chest - sizes to follow when order is placed or approved equal Nike Team Windrunner Jacket, black/grey/white - sizes to follow when order is placed or approved equal PES Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs AB - fill-ins PR ITS GREEK TO ME 25 NB NB				EA		3		
EA HOLDINGS CO INC 6 \$29.75 \$179.00 Nike Men's Dri Fit 1/2 Zip Running Shirt #90496-010, black with white block embroidered "NG" "Volleyball" on right chest - sizes to follow when order is placed or approved equal YES Nike Team Windrunner Jacket, black/grey/white - sizes to follow when order is placed or approved ANS Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs ANS PR ITS GREEK TO ME 25 NB NB	color Greenbay "G" embroidered on & sizes to follow when order is	YES						
EA HOLDINGS CO INC 6 \$29.75 \$179.00 BARCELONA SPORTING GOODS 6 Nike Men's Dri Fit 1/2 Zip Running Shirt #90496-010, black with white block embroidered "NG" "Volleyball" on right chest - sizes to follow when order is placed or approved equal WES VARSITY BRANDS EA HOLDINGS CO INC 6 \$47.50 \$285.00 BARCELONA SPORTING GOODS 6 EA ITS GREEK TO ME 6 \$52.20 \$313.00 Nike Team Windrunner Jacket, black/grey/white - sizes to follow when order is placed or approved equal ANS Wike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs Wike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs 4NS BARCELONA EA HOLDINGS CO INC 4 \$59.75 \$239.00 WIRE Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs 4NS BARCELONA EA HOLDINGS CO INC 4 \$59.75 \$239.00 WIRE Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs 4NS BARCELONA FINS BARCELONA ANS BARCELONA FINS BARCELONA BARCELONA SPORTING GOODS BARCELONA BARCELONA SPORTING GOODS BARCELONA BARCELONA SPORTING GOODS BARCELONA SPORTING GOODS BARCELONA BARCELONA SPORTING GOODS BARCELONA SPORTING GOODS BARCELONA SPORTING GOODS BARCELONA BARCELONA SPORTING GOODS BARCELONA SPO	45 placed or approced equal			EA		6	\$22.50	\$135.00
Nike Men's Dri Fit 1/2 Zip Running Shirt #90496-010, black with white block embroidered "NG" "Volleyball" on right chest - sizes to follow when order is placed or approved equal YES VARSITY BRANDS EA HOLDINGS CO INC 6 \$47.50 \$285.00 BARCELONA EA SPORTING GOODS 6 EA ITS GREEK TO ME 6 \$52.20 \$313.00 Nike Team Windrunner Jacket, black/grey/white - sizes to follow when order is placed or approved 4NS Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs 4NS ANS PR ITS GREEK TO ME 25 NB NB				EA	HOLDINGS CO INC	6	\$29.75	\$179.00
Shirt #90496-010, black with white block embroidered "NG" "Volleyball" on right chest - sizes to follow when order is placed or approved equal YES VARSITY BRANDS FA HOLDINGS CO INC 6 \$47.50 \$285.00 BARCELONA SPORTING GOODS 6 EA ITS GREEK TO ME 6 \$52.20 \$313.00 Nike Team Windrunner Jacket, black/grey/white - sizes to follow when order is placed or approved equal FA ITS GREEK TO ME 4 \$40.50 \$162.00 VARSITY BRANDS EA ITS GREEK TO ME 4 \$40.50 \$162.00 VARSITY BRANDS EA HOLDINGS CO INC 4 \$59.75 \$239.00 VARSITY BRANDS EA HOLDINGS CO INC 4 \$59.75 \$239.00 FA ITS GREEK TO ME 25 NB NB FA ITS GREEK TO ME 25 NB NB				EA		6		
## HOLDINGS CO INC 6 \$47.50 \$285.00 ### BARCELONA ### SPORTING GOODS 6 EA ITS GREEK TO ME 6 \$52.20 \$313.00 Nike Team Windrunner Jacket, black/grey/white - sizes to follow when order is placed or approved equal AT EA ITS GREEK TO ME 4 \$40.50 \$162.00 YES EA ITS GREEK TO ME 4 \$40.50 \$162.00 VARSITY BRANDS EA HOLDINGS CO INC 4 \$59.75 \$239.00 Wike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs 4NS 4	Shirt #90496-010, black with white block embroidered "NG" "Volleyball" on right chest - sizes to	YES			VARSITY RRANIDS			
ANS EA SPORTING GOODS 6				EA	HOLDINGS CO INC	6	\$47.50	\$285.00
Nike Team Windrunner Jacket, black/grey/white - sizes to follow when order is placed or approved equal AT equal AT EA ITS GREEK TO ME 6 \$52.20 \$313.00 ANS EA ITS GREEK TO ME 4 \$40.50 \$162.00 VARSITY BRANDS EA HOLDINGS CO INC 4 \$59.75 \$239.00 Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs 4NS ANS ANS ANS ANS BARCEL DNA				EA		6		
black/grey/white - sizes to follow when order is placed or approved equal YES EA ITS GREEK TO ME 4 \$40.50 \$162.00 VARSITY BRANDS EA HOLDINGS CO INC 4 \$59.75 \$239.00 Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs 48 - fill-ins PR ITS GREEK TO ME 25 NB NB	Nike Team Windrupper Jeekst						\$52.20	\$313.00
VES EA VARSITY BRANDS EA HOLDINGS CO INC 4 \$59.75 \$239.00 ANS 4NS FILIDINGS FILIDINGS FILIDINGS FILIDINGS FILIDINGS NB NB NB NB NB NB NB NB NB N	black/grey/white - sizes to follow when order is placed or approved	4NS		EA	ITS GREEK TO ME	4	\$40.50	\$162.00
Nike Team Authentic Dry Attack Women's Short, black - sizes to follow when order is placed no subs 48 - fill-ins PR ITS GREEK TO ME 25 NB NB **BARCELONA**		YES			VARSITY BRANDS			
*RARCELONA	Women's Short, black - sizes to follow when order is placed no subs	4NS			PIOLEMINGS CO INC	4	\$39.13 T	\$255.00
VEO				PR		25	NB	NB
YES PR SPORTING GOODS 25		YES		PR		25		

Lino#	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
Lille #	item bescription	(1/14)	Reason		VARSITY BRANDS			
	Nike Academy Team Backpack			PR	HOLDINGS CO INC	25	\$14.95	\$374.00
	#NKBA5501, black with							
49	embroidered forest green "NF" outlined in white - no subs - fill-ins			EA	ITS GREEK TO ME	18	NB	NB
		YES			VARSITY BRANDS			
				EA	*BARCELONA	18	\$35.50	\$639.00
	BSN Indoor Tabletop Scoreboard			EA	SPORTING GOODS	18		
50	#SK2229R or approved equal			EA	ITS GREEK TO ME	1	NB	NB
		YES		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$271.98	\$272.00
					SCHOOL SPECIALTY			
	DON D			EA	INC	1	\$301.88	\$302.00
	BSN Replacement Remote for Indoor Tabletop Scoreboard							
51	#SK1201789 or approved equal			EA	ITS GREEK TO ME	1	NB	NB
		YES		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$34.98	\$35.00
	PowerMax Strength Band #PMTA17120, blue, medium 1.5" or							
52	approved equal			EA	ITS GREEK TO ME	5	NB	NB
		YES		EA	SCHOOL SPECIALTY INC	5	\$13.06	\$65.00
					VARSITY BRANDS			
	PowerMax Strength Band			EA	HOLDINGS CO INC	5	\$25.49	\$127.00
F.	#PMTA17130, green, heavy 2" or				ITO ODEEK TO ME	_	ND	ND
53	approved equal	YES		EA	ITS GREEK TO ME SCHOOL SPECIALTY	3	NB	NB
		YES		EA	INC VARSITY BRANDS	3	\$10.83	\$32.00
				EA	HOLDINGS CO INC	3	\$36.98	\$111.00
	9' Licorice Speed Rope #17209XXX, green or approved	· · · · · · · · · · · · · · · · · · ·						
54	equal			EA	ITS GREEK TO ME	10	NB	NB
		YES		EA	PYRAMID SCHOOL PRODUCTS	10	\$0.95	\$10.00
					VARSITY BRANDS			
				EA	HOLDINGS CO INC SCHOOL SPECIALTY	10	\$1.49	\$15.00
				EA	INC	10	\$1.62	\$16.00
	10' Licorice Speed Rope #17210XXX, black or approved							
55	equal			EA	ITS GREEK TO ME	40	NB	NB
		YES		EA	PYRAMID SCHOOL PRODUCTS	40	\$1.05	\$42.00
					VARSITY BRANDS			
				EA	HOLDINGS CO INC SCHOOL SPECIALTY	40	\$1.51	\$60.00
				EA	INC	40	\$1.73	\$69.00
	Adidas KP Elite Kneepads #AH4841, white - sizes to follow							
	when order is placed or approved				ITO ODEE!! == :	,_		
56	equal	VE9-		PR	ITS GREEK TO ME AMERICA TEAM	18	NB	NB
		YES		PR	SPORTS	18	\$14.95	\$269.00
	Adidas Kneepad #AH4842, black - sizes to follow when order is placed							
57	or approved equal			PR	ITS GREEK TO ME	18	NB	NB
		YES		PR	AMERICA TEAM SPORTS	18	\$14.95	\$269.00
	Adidas Alphaskin 3" Short Tight					10	ψ14.35	Ψ200.00
	#CY9138, navy - sizes to follow							
58	when order is placed, no subs - fill-ins			PR	ITS GREEK TO ME	23	NB	NB
36	1110	YES			AMERICA TEAM			
				PR	SPORTS	23	\$13.25	\$305.00
	Adidas Essential 5" Short							
	#123YRNG, raw gold with embroidered white running							
	mustang outlined in navy on bottom left leg, sizes to follow when order							
59	is placed or approved equal			PR	ITS GREEK TO ME	2	NB	NB
		YES		PR	AMERICA TEAM SPORTS	2	\$38.00	\$76.00
L				FIX	G. OKTO	Z	ψ 3 0.00	\$70.00

Incorporation			Award						Extended
### AUGUST Committed production of control o	Line #	Item Description		Reason	иом	Supplier	Qty	Price	
PR									
October Color Co									
PR		orange on bottom left leg - sizes to							
Addids Tesh PL4 Short NCD885, and short of the space of t					PR		2	NB	NB
AMERICA TEAM 10 SEPTION 10			YES		PR		2	\$38.00	\$76.00
## AMERICA TEAM ## SPORTS									
PR ITS GREEK TO ME 2 \$27.00 \$54.00		follow when order is placed or	YES						
20 April September 10 April 10	61	approved equal							
PR		Adidas Tech Fit 4" Short #CD9595,							
Addisonal Miles Secretary					DD	ITS GREEK TO ME	10	NR	NR
Addidas Visit (1997) Addidas V	02	piaceu - no subs, illi-ilis	YES			AMERICA TEAM			
EA TIS GREEK TO ME 15 NB NB NB		Adidas M10 Short #CE2014, black -			PR	SPORTS	10	\$14.50	\$145.00
YES					FA	ITS GREEK TO ME	15	NB	NB
Addas Stadium II Backpack ### ### ### ### ### ### ### ### ### ##	- 00	pracea, no ease, nii me	YES			AMERICA TEAM			
EA		Adidas Utility Field Backpack			EA	SPORTS	15	\$15.00	\$225.00
### Committee of the white - no subs, ### Committee of the subs, ###									
YES		number outlined in white - no subs,			F.A.	ITC OREEK TO ME	45	ND	ND
Addiss Startium II Backpack SPORTING GOODS 15 S39.50 S78.00	υ4	IIII-IIIS	YES			AMERICA TEAM			
Adidas Stadium II Backpack ##142980, onix with three color embroidered Rowlett Logo ##5 "VOLLEYBALL" - no subs, fill-ins YES ##5 AMERICA TEAM SPORTS ##5 AMERICA TEAM SPORTS ##5 AMERICA TEAM SPORTS ##5 AMERICA TEAM SPORTS ##5 AMERICA TEAM SPORTING GOODS ##5 SPO			120		EA		15	\$38.50	\$578.00
## \$142980, onix with three color embroidered Rowlett Logo 65 "VOLLEYBALL" - no subs, fill-ins YES EA SPORTS 20 \$40.00 \$800.00 ## AMERICA TEAM SPORTING GOODS 20 Adidas Team Iconic Polo ## T799COW, collegiate navywhite with embroidered three color "S" with running mustaing in the middle, contact for sample, sizes to follow when order is placed or approved equal Adidas Men's Select Polo ## 1833, lead with three color embroidered Rowlett Logo on left chast, sizes to follow when order is placed or approved equal Adidas Women's Select Polo ## 1832, lead with three color embroidered Rowlett Logo on left chast, sizes to follow when order is placed or approved equal FEA SPORTS Adidas Women's Select Polo ## 1833, lead with three color embroidered Rowlett Logo on left chast, sizes to follow when order is placed or approved equal FEA SPORTS Adidas Women's Select Polo ## 1833, lead with three color embroidered Rowlett Logo on left chast, sizes to follow when order is placed or approved equal FEA SPORTS FEA SPORTS FEA SPORTS FEA SPORTS AMERICA TEAM SPORTS FEA SPORTS FEA SPORTS AMERICA TEAM SPORTS SEA SPORTS SEA SPORTS AMERICA TEAM AMERICA TEAM SPORTS AMERICA TEAM					EA	SPORTING GOODS	15		
EA									
Adidas Team lonic Polo #1799COW, collegiate navywhite with embroidered three color "5" with running mustang in the middle, contact for sample, sizes to follow when order is placed or approved equal EA SPORTS 2 \$45.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$90.00 \$9									
### SPORTS	65	"VOLLEYBALL" - no subs, fill-ins			EA		20	NB	NB
Adidas Team Iconic Polo #1799CDW, collegiate navy/white with embrididered three color 'S' with running mustang in the middle, contact for sample, sizes to follow when order is placed or approved equal Adidas Men's Select Polo #1893, lead with fitnee color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Women's Select Polo #1893, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Women's Select Polo #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Ultimate 1/4 Zip #47121LME, marcon with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Ultimate 1/4 Zip #47121LME, marcon with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Outek Set Long Sleeve Jersey #AH3183, white/white marco heather, front - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy H1 - 4 small, #5 -10 medium, h11-1			YES		EA	SPORTS	20	\$40.00	\$800.00
#1799CDW, collegiate navy/white with embroidered three color "S" with running mustang in the middle, contact for sample, sizes to follow when order is placed or approved equal Adidas Men's Select Poto #1893, lead with finee color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Women's Select Poto #1893, lead with finee color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Women's Select Poto #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Ultimate 1/4 Zip #47121LM6, marcon with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Ultimate 1/4 Zip #47121LM6, marcon with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Ouick Set Long Sleeve Jersey #A13183, white/white marco heather, front - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy three color R logo on left chest, back - marcon number outlined in navy three color R logo on left chest, back - marcon number outlined in navy three color R logo o					EA		20		
with running mustang in the middle, contact for sample, sizes to follow when order is placed or approved equal EA ITS GREEK TO ME 2 \$22.50 \$45.00 \$90.00 Adidas Men's Select Polo #1893, lead with three color embroidered Rowlett Logo on left chest. sizes to follow when order is placed or approved equal YES EA ITS GREEK TO ME 2 \$45.00 \$90.00 AMERICA TEAM \$PORTS 2 \$45.00 \$90.00 AMERICA TEAM \$PORTS 2 \$45.00 \$90.00 AMERICA TEAM \$PORTS 1 \$33.00 \$33.00 Adidas Women's Select Polo #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or embroidered Rowlett Logo on left chest, sizes to follow when order is placed or embroidered Rowlett Logo on left chest. \$PORTS 1 \$33.00 \$33.00 Adidas Ultimate 1/4 Zip 47/21 LM6, maroon with three color embroidered Rowlett Logo on left chest "VOLLEYBALL", sizes to follow when order is placed - no subs, fill-ins YES EA ITS GREEK TO ME 3 \$22.50 \$68.00 AMERICA TEAM \$PORTS 3 \$33.00 \$99.00 AMERICA TEAM \$PORTS 2 \$28.00 \$560.00 YES AMERICA TEAM \$PORTS 2 \$28.00 \$560.00 YES AMERICA TEAM \$PORTS 2 \$28.00 \$560.00 YES AMERICA TEAM \$PORTS 2 \$28.00 \$560.00 AMERICA TEAM \$PORTS 2 \$28.00 \$560.00 YES AMERICA TEAM \$PORTS 2 \$28.00 \$560.00		#1799COW, collegiate navy/white							
contact for sample, sizes to follow when order is placed or approved equal EA ITS GREEK TO ME 2 \$22.50 \$45.00 Adidas Men's Select Polo #1893, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal Adidas Women's Select Polo #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Ultimate 1/4 Zip #4712 LM6, marcon with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed - no self chest VOLLEY PALLY, sizes to follow when order is placed - no self, thest VOLLEY PALLY, sizes to follow when order is placed - no mumber outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color flog on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy, three color Rogo on left chest, back-marcon number outlined in navy three color Rogo on left chest, back-marcon number outlined in navy three color Rogo on left chest, back-marcon number outlined in navy three color Rogo on left chest, back-marcon number outlined in navy three color Rogo on			YES						
EA		contact for sample, sizes to follow	.20						
Adidas Wen's Select Polo #1893, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal Adidas Women's Select Polo #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal Adidas Ultimate 1/4 Zip #47121LM6, maroon with three color embroidered Rowlett Logo on left color embroidered Rowlett Logo on left chest "VOLLEYBALL", sizes to follow when order is placed - no subs, fill-ins Adidas Quick Set Long Sleeve Jersey #AH3183, white/white maroo heather, front - maroon number outlined in navy #1-4 small, #5-10 medium, #70 #11-1 EA SPORTS 2 \$45.00 \$99.00 ANERICA TEAM \$22.50 \$23.00 ANERICA TEAM \$22.50 \$33.00 \$4NS \$4NS \$4NS \$4NS \$4NS \$4NS \$4NS \$4NS					EA		2	\$22.50	\$45.00
lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal Adidas Women's Select Polo #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal Adidas Ultimate 1/4 Zip #47121LM6, maroon with three color embroidered Rowlett Logo on left chest "VOLLEYBALL", sizes to follow when order is placed - no subs, fill-ins Adidas Quick Set Long Sleeve Jersey #AH3183, white/white marco heather, front - maroon number outlined in navy "ROWLETT" in marcon outlined in navy "ROWLETT" in marcon outlined in navy three color R logo on left chest, back - maroon number outlined in navy three color R logo on left chest, back - maroon number outlined in navy three color R logo on left chest, back - maroon number outlined in navy three color R logo on left chest, back - maroon number outlined in navy three color R logo on left chest, back - maroon number outlined in navy three color R logo on left chest, back - maroon number outlined in navy #1 - 4 small, #5 -10 medium, and the state of the sta					EA		2	\$45.00	\$90.00
Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Women's Select Polo #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES EA ITS GREEK TO ME AMERICA TEAM SPORTS 1 \$33.00 \$33.00 \$33.00 #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES EA AMERICA TEAM SPORTS 3 \$33.00 \$99.00 YES EA ITS GREEK TO ME AMERICA TEAM SPORTS 3 \$33.00 \$99.00 FEA AMERICA TEAM SPORTS AM									
FA ITS GREEK TO ME 1 \$22.50 \$23.00 AMERICA TEAM 5 SPORTS 1 \$33.00 \$33.00 Adidas Women's Select Polo #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES EA ITS GREEK TO ME 3 \$22.50 \$68.00 YES EA SPORTS 3 \$33.00 \$99.00 AMERICA TEAM 5 SPORTS 3 \$3.00 \$99.00 YES EA SPORTS 3 \$3.00 \$99.00 AMERICA TEAM 5 SPORTS 5 \$0.00 \$560.00 YES EA SPORTS 20 \$28.00 \$560.00 TO #11-1 EA ITS GREEK TO ME 18 NB NB NB NB NB NB NB NB NB NB NB NB NB NB NB N		Rowlett Logo on left chest, sizes to	4NS						
Adidas Women's Select Polo #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES EA ITS GREEK TO ME 3 \$22.50 \$68.00 AMERICA TEAM SPORTS 3 \$33.00 \$99.00 YES EA ITS GREEK TO ME 3 \$22.50 \$68.00 AMERICA TEAM SPORTS 3 \$33.00 \$99.00 YES EA ITS GREEK TO ME 3 \$22.50 \$68.00 AMERICA TEAM SPORTS 3 \$33.00 \$99.00 YES EA ITS GREEK TO ME 20 NB NB YES EA ITS GREEK TO ME 20 NB NB YES EA ITS GREEK TO ME 20 NB NB YES EA ITS GREEK TO ME 20 NB NB YES EA ITS GREEK TO ME 20 NB NB YES EA ITS GREEK TO ME 20 NB NB AMERICA TEAM SPORTS 20 \$28.00 \$560.00 TO #11-1 TO #11-1 EA ITS GREEK TO ME 20 NB NB NB NB NB NB NB NB NB NB					EA		1	\$22.50	\$23.00
Adidas Women's Select Polo #1892, lead with three color embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES EA ITS GREEK TO ME 3 \$22.50 \$68.00 AMERICA TEAM SPORTS 3 \$33.00 \$99.00 #47121LM6, maroon with three color embroidered Rowlett Logo on left chest "VOLLEYBALL", sizes to follow when order is placed - no subs, fill-ins YES EA ITS GREEK TO ME 20 NB NB YES AMERICA TEAM SPORTS 20 \$28.00 \$560.00 YES AMERICA TEAM SPORTS 20 \$28.00 \$560.00 TO #11-1 TO #11-1 EA ITS GREEK TO ME 18 NB			YES		EA		1	\$33.00	\$33.00
embroidered Rowlett Logo on left chest, sizes to follow when order is placed or approved equal YES Adidas Ultimate 1/4 Zip #47121LM6, maroon with three color embroidered Rowlett Logo on left chest "VOLLEYBALL", sizes to follow when order is placed - no subs, fill-ins YES Adidas Quick Set Long Sleeve Jersey #HA1818, white/white marco heather, front - maroon number outlined in navy, three color R logo on left chest, back - maroon number outlined in navy "ROWLETT" in maroon outlined in navy #1 - 4 small, #5 -10 medium, 70 #11-1 AMERICA TEAM SPORTS 20 \$28.00 \$560.00 AMERICA TEAM SPORTS 20 \$28.00 \$560.00 AMERICA TEAM SPORTS EA ITS GREEK TO ME AMERICA TEAM SPORTS BAMERICA TEAM SPORTS AMERICA TEAM SPORTS AMERICA TEAM SPORTS BAMERICA TEAM SPORTS AMERICA TEAM SPORTS BAMERICA TEAM SPORTS AMERICA TEAM SPORTS BAMERICA TEAM SPORTS BAMERI									
Second		embroidered Rowlett Logo on left	4NS						
Adidas Ultimate 1/4 Zip #47121LM6, maroon with three color embroidered Rowlett Logo on left chest "VOLLEYBALL", sizes to follow when order is placed - no subs, fill-ins YES EA SPORTS 3 \$33.00 \$99.00 #47121LM6, maroon with three color embroidered Rowlett Logo on left chest "VOLLEYBALL", sizes to follow when order is placed - no subs, fill-ins YES EA ITS GREEK TO ME 20 NB NB AMERICA TEAM SPORTS 20 \$28.00 \$560.00 ##4713183, white/white marco heather, front - maroon number outlined in navy, three color R logo on left chest, back - maroon number outlined in navy "ROWLETT" in maroon outlined in navy #1 - 4 small, #5 -10 medium, TO ##11-1 FA ITS GREEK TO ME 18 NB NB AMERICA TEAM					EA		3	\$22.50	\$68.00
Adidas Ultimate 1/4 Zip #47121LM6, maroon with three color embroidered Rowlett Logo on left chest "VOLLEYBALL", sizes to follow when order is placed - no subs, fill-ins YES EA ITS GREEK TO ME 20 NB NB AMERICA TEAM SPORTS 20 \$28.00 \$560.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40			YES		EA		3	\$33.00	\$99.00
color embroidered Rowlett Logo on left chest "VOLLEYBALL", sizes to follow when order is placed - no subs, fill-ins YES Adidas Quick Set Long Sleeve Jersey #AH3183, white/white marco heather, front - marcoon number outlined in navy, three color R logo on left chest, back - marcoon number outlined in navy "ROWLETT" in marcoon outlined in navy #1 - 4 small, #5 -10 medium, 70 #11-1 EA ITS GREEK TO ME 20 NB NB NB NB NB NB NB NB NB NB									
follow when order is placed - no subs, fill-ins YES AMERICA TEAM SPORTS AMERICA TEAM SPORTS 20 \$28.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$560.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$60.00 \$6		color embroidered Rowlett Logo on							
Adidas Quick Set Long Sleeve Jersey #AH3183, white/white marco heather, front - maroon number outlined in navy, three color R logo on left chest, back - maroon number outlined in navy "ROWLETT" in maroon outlined in navy #1 - 4 small, #5 -10 medium, 70 #11-1 EA ITS GREEK TO ME 18 NB NB		follow when order is placed - no				ITO 005-11-1-1-1			
Adidas Quick Set Long Sleeve Jersey #AH3183, white/white marco heather, front - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy "ROWLETT" in marcon outlined in navy #1 - 4 small, #5 - 10 medium, 70 #11-1 EA ITS GREEK TO ME 18 NB NB	69	subs, fill-ins	VEC		EA		20	NB	NB
Jersey #AH3183, white/white marco heather, front - marcon number outlined in navy, three color R logo on left chest, back - marcon number outlined in navy "ROWLETT" in marcon outlined in navy #1 - 4 small, #5 - 10 medium, 70 #11-1 EA ITS GREEK TO ME 18 NB NB AMERICA TEAM		Adidas Quick Set Long Sleeve	TES		EA	SPORTS	20	\$28.00	\$560.00
number outlined in navy, three color R logo on left chest, back - maroon number outlined in navy "ROWLETT" in maroon outlined in navy #1 - 4 small, #5 -10 medium, 70 #11-1 EA ITS GREEK TO ME 18 NB NB AMERICA TEAM		Jersey #AH3183, white/white							
maroon number outlined in navy "ROWLETT" in maroon outlined in navy #1 - 4 small, #5 - 10 medium, 70 #11-1 EA ITS GREEK TO ME 18 NB NB AMERICA TEAM		number outlined in navy, three							
navy #1 - 4 small, #5 -10 medium, 70 #11-1 EA ITS GREEK TO ME 18 NB NB VES AMERICA TEAM		maroon number outlined in navy							
70 #11-1 EA ITS GREEK TO ME 18 NB NB VES AMERICA TEAM									
					EA		18	NB	NB
			YES		EA		18	\$45.00	\$810.00

		Award						Extended
Line #	Item Description Adidas Custom Sublimated Jersey	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
	#S98569 with three color lettering							
	& numbers front & back, small #1 2 4 5 24, medium #3 6 12 15 21 25,							
	large #7 8 9 10 13 20 - no subs, fill-							
71	ins			EA	ITS GREEK TO ME AMERICA TEAM	18	NB	NB
		YES		EA	SPORTS	18	\$42.00	\$756.00
	Adidas Clima Tech Tee							
	#123RCON, navy with two color screen print front & back, number							
	on front, "SACHSE" & number on back, medium #1 2 4 5 24, large #3							
	12 15 21 25, x-large #8 9 10 13 20							
72	x-large #33 - no subs, fill-ins			EA	ITS GREEK TO ME AMERICA TEAM	16	NB	NB
		YES		EA	SPORTS	16	\$26.00	\$416.00
	Adidas Shockweb Long Sleeve							
	Jersey, royal blue with gold lettering & numbers front & back							
	outlined in white, sizes to follow							
73	when order is placed, no subs, fill- ins			EA	ITS GREEK TO ME	15	NB	NB
13	1115	YES			AMERICA TEAM	13	IND	IND
	Adidos Choolaugh Loon Choos	IES		EA	SPORTS	15	\$42.00	\$630.00
	Adidas Shockweb Long Sleeve Jersey, gold with royal blue							
	lettering & numbers front & back							
	outlined in white, sizes to follow when order is placed, no subs, fill-							
74	ins			EA	ITS GREEK TO ME AMERICA TEAM	15	NB	NB
		YES		EA	SPORTS	15	\$42.00	\$630.00
	Adidas Cosmic 2.0 SL Women's Shoe #CP9490, grey/silver metallic,							
	sizes to follow when order is placed							
75	or approved equal			PR	ITS GREEK TO ME AMERICA TEAM	3	NB	NB
		YES		PR	SPORTS	3	\$42.00	\$126.00
	Adidas Cosmic 2.0 SL Men's Shoe #CQ1710, grey/grey/core black,							
70	sizes to follow when order is placed			DD	ITO ODEEK TO ME	1	ND	ND
76	or approved equal	YES		PR	ITS GREEK TO ME AMERICA TEAM	ı	NB	NB
	Adidas Crazyflight X2 W Shoe	150		PR	SPORTS	1	\$45.00	\$45.00
	#CP8898, black - sizes to follow							
77	when order is placed or approved equal			PR	ITS GREEK TO ME	15	NB	NB
	oqua	YES			AMERICA TEAM			
				PR	SPORTS	15	\$78.00	\$1,170.00
70	Adidas Team Crew Sock (6 pair			DI	ITO ODEEK TO ME		N.D.	
78	package), black or approved equal	YES		PK	ITS GREEK TO ME AMERICA TEAM	3	NB	NB
	2019-2020 NFHS Volleyball Rule	TES		PK	SPORTS	3	\$18.95	\$57.00
79	Book			EA	ITS GREEK TO ME	20	NB	NB
		YES		EA	AMERICA TEAM SPORTS	20	\$11.95	\$239.00
					*BARCELONA		φ.1.55	Ψ=00.00-
	Pig Pod Volloshell Correlation			EA	SPORTING GOODS	20		
80	Big Red Volleyball Scorebooks or approved equal			EA	ITS GREEK TO ME	45	NB	NB
		YES		EA	VARSITY BRANDS HOLDINGS CO INC	45		
					AMERICA TEAM		\$3.47	\$156.00
				EA	SPORTS *BARCELONA	45	\$4.50	\$203.00
				EA	SPORTING GOODS	45		
	Sport-Tek Contender Tee #ST360, 3.8 oz. 100% polyester jersey, set-							
	in sleeves, navy with Sachse Logo							
	"S" with running mustang navy outlined in orange "VOLLEYBALL"	YES						
	navy, contact for sample, sizes to							
81	follow when order is placed or approved equal			EA	ITS GREEK TO ME	75	\$8.80	\$660.00
					KNOCKOUT SPORTSWEAR.COM			
				EA	LLC	75	\$9.00	\$675.00
				EA	*BARCELONA SPORTING GOODS	75		
			<u> </u>	CA	IOLOW HING GOODS	/5	1	1

		Award						Extended
Line #	Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
					FLAT RATE PRINTING			
				E A	AND PROMOTIONS	75	\$0.4E	\$600.00
				EA	INCORPORATED AMERICA TEAM	75	\$9.15	\$686.00
				EA	SPORTS VARSITY BRANDS	75	\$9.75	\$731.00
				EA	HOLDINGS CO INC	75	\$10.75	\$806.00
				EA	TEAM LEADER	75	\$15.50	\$1,163.00
	Sport-Tek Contender Tee #ST360,							
	3.8 oz, 100% polyester, graphite							
	heather with two color Rowlett Logo in middle "ALWAYS EARNED"	YES						
	"NEVER GIVEN" white in half circle	120						
	above Rowlett Logo "ROWLETT VOLLEYBALL" white in half circle				*BARCELONA			
82	below Rowlett Logo, sizes to fo			EA	SPORTING GOODS	60		
					FLAT RATE PRINTING			
					AND PROMOTIONS			
				EA	INCORPORATED	60	\$9.50	\$570.00
					KNOCKOUT SPORTSWEAR.COM			
				EA	LLC	60	\$10.25	\$615.00
				EA	ITS GREEK TO ME AMERICA TEAM	60	\$10.35	\$621.00
				EA	SPORTS	60	\$10.50	\$630.00
				EA	VARSITY BRANDS HOLDINGS CO INC	60	\$12.50	\$750.00
				EA	TEAM LEADER	60	\$12.50	\$930.00
	Sport-Tak Posi Chargo Compatitor							
	Sport-Tek Posi Charge Competitor Tee #ST250LS, vintage heather	VEO						
	with three Rowlett Logo "Volleyball"	YES			*PARCELONA			
	below, sizes to follow when order is placed or approved equal			EA	*BARCELONA SPORTING GOODS	20		
					AMERICA TEAM			
				EA EA	SPORTS ITS GREEK TO ME	20 20	\$11.25 \$14.40	\$225.00 \$288.00
				EA	TEAM LEADER	20	\$14.40	\$310.00
				E^	VARSITY BRANDS	20	¢45.05	¢047.00
				EA	HOLDINGS CO INC	20	\$15.85	\$317.00
					FLAT RATE PRINTING			
				EA	AND PROMOTIONS INCORPORATED	20	\$30.15	\$603.00
	maroon, front - "SOAR EAGLES						+=0.10	+=30.00
	SOAR" volleyball shape faded in background, back - "FIGHT ON TO							
	VICTORY" - white, sizes to follow	YES			KNOCKOUT			
	when order is placed or approved			ΕΛ.	SPORTSWEAR.COM LLC	60	¢0.20	¢550.00
84	equal			EA	LLC	60	\$9.30	\$558.00
					FLAT RATE PRINTING			
				EA	AND PROMOTIONS INCORPORATED	60	\$9.50	\$570.00
					*BARCELONA			
				EA EA	SPORTING GOODS ITS GREEK TO ME	60 60	\$11.25	\$675.00
					AMERICA TEAM			
				EA	SPORTS VARSITY BRANDS	60	\$12.00	\$720.00
				EA	HOLDINGS CO INC	60	\$13.50	\$810.00
	Sport-Tek Women's Posi Charge Competitor Racer Back Tank							
	#LST356, iron grey withe white	\/T-0						
	"Sachse" "Volleyball", sizes to	YES			AMEDICA TEM			
85	follow when order is placed or approved equal			EA	AMERICA TEAM SPORTS	33	\$7.25	\$239.00
- 55	, and a second				*BARCELONA		\$1.20	y=00.00
				EA	SPORTING GOODS KNOCKOUT	33		
					SPORTSWEAR.COM			
				EA	LLC	33	\$8.25	\$272.00
					FLAT RATE PRINTING			
					AND PROMOTIONS		00.77	000:
				EA	INCORPORATED VARSITY BRANDS	33	\$8.90	\$294.00
				EA	HOLDINGS CO INC	33	\$9.00	\$297.00
				EA	ITS GREEK TO ME	33	\$16.20	\$535.00

l :== #	Itama Dagawinstian	Award	Passan.	ном	Cumplier	04	Duine	Extended Price
Line #	Item Description Sport-Tek Dry Zone Short Sleeve	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
	Raglan T-Shirt #T473, 4 oz., 100% polyester mini pique, true navy with							
	three lettering "SACHSE"	YES						
	"VOLLEYBALL" with running							
86	mustang, contact for design, sizes to follow when order is placed or			EA	ITS GREEK TO ME	32	\$9.90	\$317.00
					FLAT RATE PRINTING AND PROMOTIONS			
				EA	INCORPORATED	32	\$12.90	\$413.00
					*BARCELONA SPORTING GOODS	00		
				EA	AMERICA TEAM	32		
				EA	SPORTS	32	\$13.00	\$416.00
					KNOCKOUT SPORTSWEAR.COM			
				EA	LLC	32	\$13.00	\$416.00
				EA	VARSITY BRANDS HOLDINGS CO INC	32	\$17.25	\$552.00
				LA	TIOEDIIVOO OO IIVO	32	ψ17.23	ψ332.00
87	Floor Marking Tape, 2" x 60 yards,			RL	ITS OBEEK TO ME	10	NB	NB
07	color to follow when order is placed	VEO		KL	ITS GREEK TO ME VARSITY BRANDS	10	IND	ND
		YES	Ī	RL	HOLDINGS CO INC	10	\$5.59	\$56.00
				RL	SCHOOL SPECIALTY	10	\$5.77	\$58.00
					PYRAMID SCHOOL			
-				RL	PRODUCTS AMERICA TEAM	10	\$5.90	\$59.00
<u></u>				RL	SPORTS	10	\$7.00	\$70.00
				RL	*BARCELONA SPORTING GOODS	10		
	Gildan #8000 short sleeve t-shirt,			KL	SPORTING GOODS	10		
	charcoal grey with white lettering							
	"SOUTH" with a volleyball "VOLLEYBALL", sizes to follow	YES						
	when order is placed or approved				*BARCELONA			
88	equal			EA	SPORTING GOODS AMERICA TEAM	60		
				EA	SPORTS	60	\$5.00	\$300.00
					FLAT RATE PRINTING			
					AND PROMOTIONS			
				EA	INCORPORATED	60	\$5.50	\$330.00
				EA	VARSITY BRANDS HOLDINGS CO INC	60	\$5.75	\$345.00
					KNOCKOUT			¥ - 1 - 1 - 1
				EA	SPORTSWEAR.COM LLC	60	\$6.30	\$378.00
				EA	ITS GREEK TO ME	60	\$6.75	\$405.00
				EA	TEAM LEADER	60	\$9.50	\$570.00
	Gildan #8000 short sleeve t-shirts,							
	black with red lettering "SOUTH"	YES						
	with a volleyball "VOLLEYBALL", sizes to follow when order is placed				*BARCELONA			
89	or approved equal		_	EA	SPORTING GOODS	60		
				EA	AMERICA TEAM SPORTS	60	\$5.00	\$300.00
						30	ψ0.00	ψοσο.σο
					FLAT RATE PRINTING AND PROMOTIONS]	
	<u> </u>			EA	INCORPORATED	60	\$5.50	\$330.00
				F.4	VARSITY BRANDS			0045.00
				EA	HOLDINGS CO INC KNOCKOUT	60	\$5.75	\$345.00
				L	SPORTSWEAR.COM			
				EA EA	ITS GREEK TO ME	60 60	\$6.50 \$6.75	\$390.00 \$405.00
				EA	TEAM LEADER	60	\$9.50	\$570.00
90	Trigger Point Grid Stick #5964- 81STK or approved equal	NA		EA	ITS ODEEN TO ME	4		NID
90	Pro-Tec The Orb Deep Massage			EA	ITS GREEK TO ME	1	NB	NB
	Ball #2422-51, 5" or approved	NA		F.4	ITO ODEEN TO ME			
91	equal Pro-Tec High Density Foam Roller,			EA	ITS GREEK TO ME	1	NB	NB
	6 x 36 round, #2640-15 or]	
92	approved equal			EA	ITS GREEK TO ME SCHOOL SPECIALTY	1	NB	NB
		YES		EA	INC	1	\$11.26	\$11.00
				ΕΛ	VARSITY BRANDS	4	¢14.40	¢14.00
1		İ	į.	EA	HOLDINGS CO INC	1	\$14.49	\$14.00
	Slipp-Nott Matts #17842, small (60	NA		EA				

Line #	Item Description	Award (Y/N)	Reason	иом	Supplier	Qty	Price	Extended Price
		(1,11)	i i i i i i i i i i i i i i i i i i i		Сиррии	<u></u>		
	Power Systems Versa Loops #2626-							
94	46, red, medium or approved equal			EA	ITS GREEK TO ME	15	NB	NB
		YES			SCHOOL SPECIALTY			
		IES		EA	INC	15	\$19.44	\$292.00
	Alleson Women's Extreme Mesh							
	Short #565PW, black, sizes to							
	follow when order is placed - no							
95	subs, fill-ins			PR	ITS GREEK TO ME	50	NB	NB
	YES	VES			AMERICA TEAM			
		ILS		PR	SPORTS	50	\$5.75	\$288.00
					*BARCELONA			
				PR	SPORTING GOODS	50		
					VARSITY BRANDS			
				PR	HOLDINGS CO INC	50	\$6.25	\$313.00